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Coulomb’s Law
Background:
[image: ]	According to Augustin de Coulomb charged objects will either attract or repulse each other. A positive force will repulse, while a negative force will attract. Coulomb’s law mathematically is then                    where F is the electrostatic force acting on the two charged particles. k is constant, k = 9.0 x 10^9 Nm²/C² and r is the distance between the two objects.
Equipment:
· 2 beige colored pith balls (0.04g)
· 3 rods
· Acrylic
· Rubber
· PVC
· 4 materials to charge
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· 
· Silk
· Wool
· Fur
· Acrylic
· 
· Ruler
· 24cm piece of string
· Metal rod with hook
Procedure:
	Suspend two pith balls from the rod with hook with a thin thread, to make a simple electroscope. Rub one of the rods on one of the material to transfer electric charges. Bring the rod close to the pith ball to see the reaction. If the pith balls separate, measure the distance, r. Write down the data. Touch the rod with hook to discharge and repeat using the different materials. Repeat this process using the different rods. 
Data: [image: ]

Results:
	We found that the PVC rod acquired more charges from the fabrics than the acrylic or rubber rods; this means that the PVC has more negative electrons. Also found that fur rubbed on any of the rods would donate more electrons than the other fabrics.
Conclusion:
[bookmark: _GoBack]	Materials that have more positive electrons would repulse or donate electrons. While materials that have more negative electrons would attract or acquire electrons.
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Acrylic (m) Angle Rubber (m) Angle PVC (m)Anlge

Acrylic 0 0 Acrylic 0 0 Acrylic 0.27 1.54

Silk 0 0 Silk 0 0 Silk 0.12 3.49

Wool 0 0 Wool 0.23 1.81318 Wool 0.35 1.18

Fur 0.15 2.79 Fur 0.2 2.09 Fur 0.35 1.18

F = k

k = 9.0 x 10^9
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